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OEXNgR=A Stz 40,0003 x12& 480
202 odl 52,416 58,080 N5,664
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F0 HHEH 9,100 9,100 0
301 et A= 9,100 9,100 0
09 #HAIAHI BEAZ 9,100 9,100 0
OHAEENS & Z2FH3 A B4
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OHAE2Y XNHMEA =8 S 7,000
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101 Q124 H| 13,984 10,787 3,197
04 JI2ZtHIZ22NEES 13,984 10,787 3,197
OE2H ZEH|D]| 60,330& x10H x5 23| 6,033
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206 M = Hl 2,500 5,000 A 2,500
01 X2 H| 2,500 5,000 A 2,500
OJdizsgst & 22AXH 2 S 2,500
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301 et A= 2,508 2,508 0
04 ItSHHUHISHH] 2,508 2,508 0
OXstedHiigy 4| 7,000 225 x12& 1,848
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gAAN= 6,906 6,274 632
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—HYREA (MY ¥ BYN BAXA
g) 7,920
WS 2 495,000& 8 3,960
= = 495,000& 8 3,960
401 A& HIZ 201 I 221,584 216,584 5,000
01 A& HI 220,000 215,000 5,000
Od&sel -2 HHISAH(L=100m) 20,000
O4Y &2l =2 HHl3AH(L=140m) 20,000
Ogel I==2 Bl 3 A((L=100m) 20,000
Odl&el =2 Hul3AH(L=100m) 15,000
Oo2gel %2 Hbul3AHL=50m) 15,000
O24geal == FHl3AH((L=200m) 20,000
Ogel datti=2 &l 3 AH(L=200m) 20,000
Ogdel Asti=2 FHl 3 AH(L=50m) 10,000
Oggel =2 Hudl3AH(L=200m) 20,000
OMoAE X7 HE=(8H L) 40,000
Obtsord, =2 SEZIIA(4HL) 20,000
03 AlE S THHI 1,584 1,584 0
OFeU=JAANY S 220,000,000& *0.72% 1,584
2F X =HEH| 4,755 5,093 A 338
101 14l 2,255 2,593 A 338
4 D12t ZE2EXNEES 2,255 2,593 A 338
OFL SeZ 2te| 44,6403 x5H +5L +23] 2,232
OdMMEE= 2,232,000& * 1% 23
206 M= Hl 2,500 2,500 0
01 =8l 2,500 2,500 0
gL S @ EFEIFE 22 S 2,500
M2 AAY (R W) 170,579 167,767 2,792
el 2l 62,194 68,797 A 6,603
ol Al 62,194 68,797 A 6,603
101 @124 dl 60,994 55,597 5,397
01 2= 60,994 55,597 5,397
OAN2LA2ZRSY FHZ(14H) 14,958
— 532 11,5913 x 1H «10Al 2t+ 128 1,391
— 6= 9,886% x4 x10Al 2t 123 4,746
A= 8,930& *4H +10Al 2tx 12 4,287
— 8= 8,017 2 «10Al 2tx 123 1,925
—9= 7,2473 *3F *10AI 2tx 128 2,609
oxzuz=e¢ 9, 1343 «14H x30Al 2t 12& 46,036
204 A=A H| 1,200 3,000 A 1,800
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el UABE Al )
S B G(SA) - NRANY - BES il 2
= 533,759 488,758 45,001
=% AHZ 351,978 ,227 31,751
xSy A 55,075 316 1,759
=2 FoHEHE 9,100 , 100 0
301 LA Z 9,100 , 100 0
09 &AL HIZ &S 9,100 , 100 0
OHEED & 233 F4A 7,000& 150 23 2,100
OHE2Y XHMEA =& S 7,000
T2H ESFEY 16,730 ,319 411
101 @124 dl 11,730 ,319 411
04 JI2ZtHZ22HEE =+ 11,730 ,319 411
OE2H =HlJI 60,3303 *10H x5 +23| 6,033
OM=Xl - H& HE=2HA 44,6403 x5H 52 1,116
OJzsteh & 22X 4 44,6403 x10E «10 4,464
OdMEEZ 11,613,000& 1% 117
206 M= Hl 5,000 ,000 0
01 M= 4l 5,000 ,000 0
OZ2Zxd 82 & 25 P2 400&+12,5002 5,000
AESLHUHAE 29 XA 2,280 ,280 0
301 et a = 2,280 ,280 0
04 2L HUA2SH 2,280 ,280 0
OXNsdEHUH2E sS4 7,000& «20H «122 1,680
OXsgdHU=22 Il=H 30,000& x20H 600
LdALS 6,906 ,944 962
101 @124 dl 2,706 ,075 631
04 JI2ZtHZ22 s+ 2,706 ,075 631
O0tsdtAHLdAS 44 640 «1H 602 2,679
OdMEE= 2,679,000& * 1% 27
206 M= Hl 4,200 ,869 331
01 M= 4l 4,200 ,869 331
OgAMTE |RF SHAA 4,200
SET=2EY 24 20,059 ,673 386
101 144 dl 4,018 ,636 382
04 JIZtHZ22HEE+ 4,018 ,636 382
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01 At 2teltl 1,041 ,037 4
OdMEEZ 4,018,000& *1% 41
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401 A& HIZ 201 Y] 10,000 10,000 0
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F0lgtett 2t AL =& 7,300 17,300 A 10,000
ROt 2stgs XE 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OOl 2stas S HAXA 6,000
HdS23 Al 1,300 1,300 0
301 et 8= 1,300 1,300 0
09 HALAHIEA S 1,300 1,300 0
Ogx=g)| EINBA(H22H) 1,300
KIS0 2 A 289,603 249,611 39,992
A2 FFHAMA 231,708 227,524 4,184
201 L2l 9,900 5,940 3,960
01 At 22l 9,900 5,940 3,960
og g 9,900
—& - tH=2 &34l S FHIYX= 9,900
Z3 e 495,000 x10& 4,950
g 495,000 x10 4,950
401 Al HIZ 201 I 221,808 221,584 224
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OMoiASE AL L =2 FHISA
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Ootrsotz & gz Fi
15,000, 000& *2H 4 30,000
O3l 3l& =2 ZHHI3AH(L=150m) 20,000
Og4lls s2 EZ &3 AH(L=120m) 20,000
O8sc =8 % =2 Ul S AH(L=120m) 20,000
&2 OrdE =2 FHI3 AHL=200m) 18,000
OJeel &£ a2 & 8I3AHL=200m) 18,000
03 A& S THHI 1,808 1,584 224
OAIZ 2l 251,000,000& *0.72% 1,808
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Oo2gs4 48,500
— o 50,000 *1H * 120 *2JH & 12,000
— =X 50,0009 12§ %3652 %274 £ 36,500
SERTIE PPN 5,801
oY i 2 3,900
— XYM MEATLE U SHHYEN Mg
Xt 300,000& 63 1,800
—HENMAMSTRNSHEEHO(MRE FSHEE,
S PNESE=-D D! 450,000 *23] 900
—ZA=3 0ls URAA 2H 300,000 x43] 1,200
02 533294l 34,906 36,209 A 1,303
O23222 % HAH SHHA(RE , &I, =T Al
22 ) 16,367
OB =L ARYl
1,310@ *24 *10Al 2- %1202 *3JH & 9,432
OFA & JIEt AIE&EH SXHl SHH A 3,000
O XH&kd| 4,387
— 4832 4,387,000& = 1CH 4,387
ONMIIXSX B2 200,000& =2LH 400
O&IIXsX HMIAMNEZ 35,000& *2CH = 12& 840
OsXNgRFrSAZ 40,000& x12& 480
202 04 d| 38,880 38,640 240
01 2L Y| 10,080 12,240 N 2,160
OHELLRFZX SHAH A 7,920
OIINFHHNSEIR =& 60,0003 x3 x12& 2,160
02 EH0b| 28,800 26,400 2,400
O ¥ I 200,000 x12H x12& 28,800
203 ¥R =&Y 10,080 0 10,080
01 J| 2 2HHRE=XH| 6,600 0 6,600
OJ#2d 28| 550,000& ~12& 6,600
02 M RE A Y| 480 0 480
OFIAINNMAR =Y 40,000& 12 480
04 ENSHELRF=AH| 3,000 0 3,000
OFN2IIRF&Y| 250,000& 12& 3,000
204 &R = A Y| 3,000 0 3,000
01 XS RHFH| 3,000 0 3,000
OXMI PR =X 3,000
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SN e
HE: HHSYAU (LBH)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

—HE 150,000& = 12& 1,800
—S2HE 50,000& x12& 600
—OIOIE&EAHE 50,000& x12& 600

405 XtabF SHI 9,210 2,800 6,410

01 AL 2B F SHI 9,210 2,800 6,410
oxZgd 850,000& = 1CH 850
OZAE U HEIA 120, 000& *8IH 960
OZA B & o2 XA 5,000
OMSBI (=) 600, 000& =4CH 2,400
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